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1LO: To subtract 2 mixed numbers.
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| can subtract 2 mixed numbers.

immmmwwmmmnmmW

froctions.

)

2)

3)

4)

Flashback L.

lds hbatck

| |
Work out 35 + Zq

3 9
Add 7 and m

Change 57 to an improper fraction.

What number is 600 less than 4,377
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N Work +31+2l
OrK ou 2 "|

3 9
2) Add 7 and m

3)  Change 5% to an improper fraction. [

4)  What number is 600 less than 43717 ([




5) What did you notice about questions 3) and 4)?
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We need to turn these mixed numhbers into improper

35_1E= fractions.
2 9 18
15 15

Then, subtroct using the bar
model. Write the answer as a
mixed number.




Use the who‘Le-Pa,rt model method to subtract these mixed numhbers.

Dont forget to- convert first!
9 2

1) b— — 33— =
14 7




Use the bar model method to subtract these mixed numbers.

The conversion has heen done for you, bhut
now- these mixed numhbers need to he

improper fractions!
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Q) emic ond Doro are werking et 41 - 12

I
How does this help you 1o work out the subtroction?

) Complete the cokulction.

Use your preferred method 1o complete the b e 1.:3.
o < ‘i
4 .3 A | : U
o ay-2p- 9 Wwy-Se B it ot Extension activity:
7 5;_32_2‘ There are three colours of dog biscuits in | Rosie has 20
A a bag of dog food: red, brown and
b 32-1l. @ 0d-s2. orenge. ) s
Expioin the mistoke thot Dexter has mode Annlehasé-(
The total mass of the dog food is 7 kg.
@ o A troveis for 15 mites. ‘ ‘ How much it
R
h.mh"%“h_ The mass of red blsc-uns.ls?zkgandthe How much it
How f does Cor 8 shon Car A mass of the brown biscuits is 1 Ekg. altogether?

What is the mass of orange biscuits?




1
From Jack’s house to school is 2 Z km.

From Jack’s house to the parkis 1 E km.

How much closer is the park to Jack’s house?

School 2

<
1 - * >
Park 3

1 Haveathinkm
2-—1 E =
4 3




How much closer is the park to Jack’s house?

School 2

E
-Park 13

- Convert these fractwns ﬁrst.




Now-|convert to improper froctions

and subtract!

|
n | 00

AN | 00
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I
How does this help you 1o work out the subtroction?

) Complete the cokulction.

Use your preferred method 1o complete the b e 1.:3.
o < ‘i
4 .3 A | : U
o ay-2p- 9 Wwy-Se B it ot Extension activity:
7 5;_32_2‘ There are three colours of dog biscuits in | Rosie has 20
A a bag of dog food: red, brown and
b 32-1l. @ 0d-s2. orenge. ) s
Expioin the mistoke thot Dexter has mode Annlehasé-(
The total mass of the dog food is 7 kg.
@ o A troveis for 15 mites. ‘ ‘ How much it
R
h.mh"%“h_ The mass of red blsc-uns.ls?zkgandthe How much it
How f does Cor 8 shon Car A mass of the brown biscuits is 1 Ekg. altogether?

What is the mass of orange biscuits?
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Extension activity:
There are three colours of dog biscuits in
a bag of dog food: red, brown and

orange.

The total mass of the dog food is 7 kg.

The mass of red biscuits is 3 % kg and the

mass of the brown biscuits is 1 17—6 kg

What is the mass of orange biscuits?

Rosie has 20 icm of ribbon.

Annie has 6 %cm less ribbon than Rosie.

How much ribbon does Annie have?

How much ribbon do they have
altogether?




o IS 7

2= is 7 greater than |

6 12
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